I71L/1 RN

ELECTRIC MOTORCYCLE

‘VF CHILE

SEAT

ventas@talariachile.cl cel: + 56 9 9415 7593 @talariachile



‘F

CHILE

SEAT
Item Parte Ref. No. Descripcion Unit Qty. Precio (CLP)
1 41010-56001-000 Seat Assy. Set 1 S 46.700
2 40300-56000-002 Seat Holder(matt painted) Pcs 1 S 125.000
3 10524-56000-000 Screw DIN7984-2002(M8*20) Pcs 4 S 1.500
4 400.55000.000 Battery PackB?;;ﬁ:tr Cover Lock Set 1 $ 1.500
5 Ring Set 1 S 1.500
6 10440-56000-000 Screw GB/T70.2 (M6*14) Pcs 2 S 1.500
7 32881-56000-000 Fr.upper part, seat plastic plate Pcs 1 S 3.500
8 10438-56000-000 Screw GB/T70.2 (M6*10) Pcs 2 S 1.500
9 10042-56000-000 Nut GB/T6187.1 (M6) Pcs 4 3 1.500
10 32882-5600-000 Fr.lower part, seat plastic plate Pcs 1 S 3.500
11 43534-56000-000 Silica-gel Washer ($10*®5*1.9) Pcs 2 S 1.500
12 10611-56000-000 Screw GB/T845 (ST4.8*13) Pcs 4 S 1.500
13 32431-56000-000 Plastic tail Pcs 1 S 15.000
14 10611-56000-000 Screw GB/T845 (ST4.8*13) Pcs 3 S 1.500
15 51080-56000-000 Tail Lamp Pcs 1 S 24.900
16 10041-56000-000 Nut GB/T6187.1 (M5) Pcs 2 S 1.500
ventas@talariachile.cl cel: + 56 9 9415 7593 @talariachile




